SOA Puzzle 75 Solution

Orienteering Nonogram

Scottish
Orienteering
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Solve the Nonogram to reveal an orienteering related image. Nonograms are picture logic
puzzles where the goal is to fill in the cells of the grid to match the clues for each row and
column. Each clue represents a sequence of adjacent black cells. Each sequence of black
cells must be separated by at least 1 blank space. The ‘x’ indicates that the square must

be left blank.

22

21
11

= A NN =

_ NN = A

_ N WN =

_ A A A

-_ N N =

a NN =

131

1221

1221

1111

31131

23321

1111

= N NN =

_ = N = -

= NNN =

_ NN =

_ N DN -

_ A A A

1

1{1]1
2112
3(2]2]1
2121441
1111 ]11[1]22

11111

12321

13331

11111

1221

1221

1111

11311

22221

22221

1331

11
21

Scottish Orienteering Association
Glenmore Lodge, Aviemore PH22 1QZ

scottish-orienteering.org
info@scottish-orienteering.org



http://www.scottish-orienteering.org/
mailto:info@scottish-orienteering.org

